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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Identify, which of the following is not a source of demand for foreign
exchange. (Choose the correct option) 1
(A)  Imports of goods and services
(B)  Gifts by Indians to their families living abroad
(C) Indian tourists visiting foreign countries
(D)  Loans from Rest of the World
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2. 31 TE T AT SN A BY, FHETRaT daTfetent sl 91 hIfS ;
(@& farshed &1 == Fifs)
I (Y) Serd STHIT Sa 3TRT Yg i
FREH | @HIsH | (T FgH) (APC)
0 .(1)... 30 -
100 0 (1), 1
200 30 170 0-85
300 60 240 0-8
frehea
(A) -30,120
(B) 30,120
(©) 0,70
(D) -30, 100
3. HEEE® ST STefeareet § ET AT H FHHT FH{ Thal & |
(e o b1 g o ToTq wiet forshe <kt =~ hifry)
(A) g ITRfeT | et
(B) dHIHAM
(C) s HH
(D)  G-Secs Wlﬂﬂ'ﬁrﬂﬁlﬁ) F T
4.  9W ST, Rt steferere H, fFenfsra oo fanfora searer & sl 2
& s feurfa o Steforaeen Wy o ey § Hel faehed ht 9g= hifTe
(1) AT ﬁﬁ'ﬂﬁﬁﬂmﬂ'ﬂﬁ (inventories) H FHY
(i) TS T H gha
(iii)  3refeerer U aredforeh Scare Tl o s
(iv)  ITIEeT | TSR &l § At
forepew
A Fd (i) B) @) M)
(©) (i) 3R (iv) (D) (i), ({ii) AN (iv)
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2. Using the given information, complete the following table : 1

(Choose the correct option)

Income (Y) Savings | Consumption | Average Propensity to
(in Tcrore ) | (in Tcrore )| (in Tcrore) Consume (APC)
0 (). 30 —
100 0 W), 1
200 30 170 0-85
300 60 240 0-8
Options :
(A) -30,120
(B) 30, 120
(C) 0,70
(D) -30,100
3. Central Bank can decrease the money supply in the economy by
1
(Choose the correct option to fill in the blank)
(A) lowering the cash reserve
(B) increasing the bank rate
(C) lowering the bank rate
(D)  purchase of G-Secs (Government Securities)
4, Suppose in an economy, planned spendings are greater than planned
outputs.
Identify the correct option with respect to effects on the economy : 1
(1) Decrease in planned inventories in the economy

(ii))  Rise in National Income
(iii)) Decrease in real output level in the economy

(iv) Decrease in employment level in the economy

Options :
(A)  Only (1) (B) (1) and (ii)
(C) (i) and (iv) (D) (1), (iii) and (iv)
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5. IS sl gR0 FA GiSid @/g T 500 &, qAT AR AT 20% 2, AT Arefier SHT 1
T &I |
(Fert rr bt Y o foTu Wet forshed <Al =~ hifST)
(A) < 200 (B) < 300
(C) < 100 (D) < 500
6. e Mot ek (K) &1 0H 5 2, T STEHT s=id et I |
(e T <A1 g o ToTq HE forshed T == h1fTY)
(A) S=-60+025Y
B) S=-60+075Y
(C) S=-60+020Y
D) S=-60+060Y
7.  UEIH i foh, Fefafiad & @ #-t 7e Ra it T 31 o ATehetd | Aftafad
Tt AT et | (@& fasheq =1 == Fifs)
(A) WG H & ZATe & R TR et st S o
(B) &R W B aTeft 3™
(C) Y ikl hl WA o &9 H WIAH
(D)  TorET ®H RT sfeh Rl T FoRAT T ST
8. Ifd U FedHl @Ic] (upward sloping) dieft W UM %o, Y-31e7 o Rt
GhTIcHe fHE3Ti (coordinate) W 3id:@S (intercept) SATAT ®, AT 3HHT ATcqd I8
a for ot ¥ gfg B W dmia sawr yafy (MPC) AT e
39T Y4t (APC) |
(e ol <l gfed o forq @@l forehed =1 =i hiiSTY)
(A) Terwf, # afg 2rft (B) Hgfgenft, ¥ afg anft
(©) ferw, # fiee anft (D) ® firrae gnft, & fitree gnft
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5. If the total credit created by the banks is ¥ 500 and Reserve Ratio is

20%, the value of primary deposits would be . 1
(Choose the correct option to fill in the blank)

(A) T 200 (B) ¥ 300

(C) T 100 (D) ¥ 500

6. If the value of Investment Multiplier (K) is 5, the relevant saving

function would be ) 1

(Choose the correct option to fill in the blank)
(A) S=-60+025Y
(B) S=-60+075Y
(C) S=-60+020Y
(D) S=-60+060Y

7. Identify, which of the following items will not be included in estimating

National Income of India. (Choose the correct option) 1

(A) Salary to Indian residents working at the Russian Embassy in
India

(B)  Income generated from smuggling
(C) Payments to farm workers in the form of foodgrains

(D) Interest paid by a firm to a bank

8. If an upward sloping straight line consumption function makes an

intercept at the Y-axis at a positive coordinate, it implies that Marginal

Propensity to Consume (MPC) and Average Propensity to

Consume (APC) as the income increases. 1

(Choose the correct option to fill in the blanks)
(A) remains constant, rises (B) rises, rises

(C) remains constant, falls (D) falls, falls
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(A) FIF 1T IR FHIT 2 JAGT ¢ |
(B) ¥ 13T IRNFIT2 IR |
(C) HIT 132 AR |

(D) HYA 1 FAR2 S AL |

TR short — tfireher (A) 3R FROT (R) i SAHYEe UfeT |
Tt few mu foenedt 1§ wel faenea 1 == FifsTe

R (A) I IS GHH @ W, B T3 o FTHIA § 9% T A |
g B Tt 2 |

FR (R) : S HET o eI | dreor [Rer forfy ot gorett o Sfdid #ehr
T foraeft qETel o Helg H e qeT o ed H i 9 2 |

forepea

(A)  JAMHRAT (A) 3T FHROT (R) IHT eI & T FHRT (R), 3AMRAT (A) T Tt
AT FAT |

(B) 3R (A) 3T RO (R) ST I &, Wl BT (R), IR (A) il Tl

ST T&T hdT & |

(C) IR (A) I 8, Afehd 10T (R) AET 8 |
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9. Read the following statements carefully : 1

Statement 1: The price of a given currency in terms of another is
known as bank rate.

Statement 2 : Demand curve for foreign exchange is a downward
sloping curve.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

10. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct option from those given below : 1
Assertion (A) : Other things remaining constant, devaluation of domestic

currency may lead to rise in National Income of the
nation.

Reason (R): Devaluation of domestic currency refers to reduction in the
value of domestic currency by the government with respect
to foreign currency under the fixed exchange rate system.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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11.

12.

13.

14.

CEEOE®
[u—y
Ot

T @ T Usft @ | foreig hifo |
(F) A AU ITT FHihe! SR BT A (NDPp) 3hl TUHT AT -

a_ijn A (?g 7)
(i) | SIS A T Hehed T 3¢S 2,500
(i) | Feert Isft o1 3w 200
(iii) | &g o TR 20
(iv) |39 50
(v) | Toreetl & 9T 38 Rk A 50
(vi) | & § aftEdq 30
(vii) | Trft afcut i st &t 500

rraT

(@) oIl & 9TH 37 |ree A (NFIA) 3t GG ShiTST qeim S8k Jeehi il

STEAT IS |
“1990 o g H, TRAT f&1d S (RBI) il OeiTe W, YR TR o fafi= wsat &
T E0f W okl fiel} T st ot form o 1
SUYF A o AT H, TR o SohY, TSIC T HATGHR 6 &Y H hea ¥ sich hl HehT
T Eeny 3 =t iR |

(F)  “Teh ITFHILAT AT o TSR & T H1feAd &I &I 2 |7

Ig Reufa Far euidt ® 2 @ fufa @ fuer & fow forelt v qeeniT U @@
I SRS |

YT

(@) Uk FHIcUH HEATcHE IETEL0T S TN ik R | Sarsy foh, fasr & i
TS TR g STeaeT o SifaH 3T o T o hel THTed hid & |

foreft shTeufeh Tefearareert § €y Wi (AD) % Hd ol ST HIVT ;
i) @R e () = T 100 FU

(i)  Himid e g (MPC) =
(i) ST ER(Y) = T 4,500 FS
(iv) TWRAITINTET(T)= T 50 FS
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11. Distinguish between Current account and Capital account. 3
12. (a) Calculate Domestic Income (NDPg) from the data given below : 3
S. No. Particulars Amount
(in < lakh)
i) Gross National Product at market price 2,500
(i1) Consumption of fixed capital 200
(iii) | Goods and Services Tax 20
(iv) | Subsidies 50
(v) Net Factor Income from Abroad 50
(vi) | Changes in Stocks 30
(vii) | Unexpected loss of a fixed asset 500
OR
(b) Define Net Factor Income from Abroad (NFIA) and discuss its
components. 3
13. “In the 1990s, on the advice of Reserve Bank of India (RBI), the
Government of India took a decision of hypothecation of gold reserves to
different nations.”
In the light of above statement, discuss briefly the role of Central Bank
as Banker, Agent and Adviser to the Government. 4
14. (a) “An economy is operating at under-employment level of income.”
What does this situation indicate ? Discuss any one fiscal measure
to tackle this situation. 4
OR
(b) Elaborate using a hypothetical numerical example, how a given
initial increase in investment affects the level of final income of the
economy. 4
15. Estimate the value of Aggregate Demand (AD) in an imaginary economy : 4
(1) Autonomous Investment (I5) = ¥ 100 crore
(ii))  Marginal Propensity to Consume (MPS) = 0-2
(i11)) Level of Income (Y) = ¥ 4,500 crore
(iv)  Autonomous Consumption Expenditure (¢) = ¥ 50 crore
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16.

e :

(h)

©)

i)

(i)

(i)

(i1)

A AifoT fop, weh smreten srefegaen § Shad T %1 A, B 3R C |

ua ffera auemafyy & e, 3 g efaRad oF-a fpg e 2 -

(I) %4 A9 %H BT 2,000 7€ FH C ¥ 1,200 3 HeF T HTA
forspr femam |

(II) %4 B %4 AT 1,100 791 %4 C I 3,500 3 He T HIA
[EESRERIN

(III) &H C 3 T&&AT i % 5,700 o Hed AT o 3Hqd 3UHT o foag
IEERREZIN

TeIBTE i % 120 HMd §T, TSN Hod W 3[4 5] 3care (NDP, ) %
TS <hl STTHTT TR |

forelt Tz # 3= TurerTyul e YeM S ATl 2000 A€ forert %
fomior @ tefegaeen § @ohel SRSl 3cU1e (GDP) 9 Shedmul W ETfad
J9TET shl AT hIfST |

EPE
JTEdfieh Wehel Be] 3ca1e (GDP) o Hifseh dehel ®ie] 3care # favig
TSI |
faieh 11 319, 2023 1 T T % SFTER ;

“forefi af 2023 & sAfFee areAt it fosht uen faferam &1 sttt ur
Tlé%l”

TheT BN 3cUTE (GDP) T 3ATFIeh HedTo T 36k T 1 foRetyor

e |

fETCTRI S94 hact giEaTtera udigrTieran & forq 394 &1 16 (@) (ii) & T W

gl
ST HIS foh, Tord o TR-HIfseh Ti-a” o1l o Gaieh o &9 H GDP % 3w
1 Hifid = 8 |
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16. (a) (1) Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the
following transactions were under, taken by them :

D Firm A sold goods worth ¥ 2,000 to firm B and ¥ 1,200
to Firm C.

(II) Firm B sold goods worth ¥ 1,100 to Firm A and ¥ 3,500
to Firm C.

(ITI) Firm C sold to households for final consumption,
goods worth ¥ 5,700.

Estimate the value of Net Domestic Product at Market Price
(NDPyp) assuming depreciation to be ¥ 120. 3

(ii)  Explain the likely impact of construction of 2000 new schools

providing high-quality education in a nation on Gross

Domestic Product and welfare in an economy. 3
OR
(b) @) Distinguish between Real Gross Domestic Product (GDP)
and Nominal Gross Domestic Product. 3

(ii)  As per a news dated April 11, 2023 :

“Electric Vehicle sales crossed one million mark in FY 2023.”

Analyse its impact on Gross Domestic Product (GDP) and
economic welfare. 3

U
B nr e TSI P ™

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 (b) (ii).

Explain how, ‘non-monetary transactions’ in an economy act as a
limitation of using GDP as an indicator of welfare.
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17. FHfIRad Tl AHgE® ufe :

TR e FEgel qor arsdl i SUcied HLaTd! &, fSe Ssii-as o g
3UcTsY &l LTI ST Hehdll | §H YN hl TEG3AT o 3T & — TS Y&, qSeh,

TR SRITEA 3Tl Fofee Areisti-en aRqd el ST € |

TSl SRl o wreiSTiHe el § A SHFAT B0 | §94 a1 9T AL B |
UBAT A I8, o Areseh a&qq @l o fOIT Suctey & qur ek ATy forelt Tk fomiy
IUNIHT ek &t €ifird =€t € | Seretr % fou, afe us saftr i ggaar 8, a1 98 3=
el & foTu Suctsyr T Wit | T8 el ST GohaT © foh 50 =afth o Ui qur o=
Al o ST § Tidgdl defyr & | oiferd afe & wreistih areh I1 a1g Tguor i
L o ST 3hT ST R, AT 39k AT Bl o ToTl SUTed 811 | Woh ATk ST Uoh o ol
SYHIT U o {eTT STk STFNT shT STASHAT i HH el UM | 37l Teh 1Y Fg AN
TehT TN 33T Tehd &, 7T I&T ohg QAN T SUHIT FTTZaTeHe el 1T |

T, TSt g3l o e o, Sit =it sl o ToTT YT el el 36 geht
AT 33 § dfId R ST TR © | IS 3119 foehe 1 @ilia, ar 31Teh! fqmr s # fhed
3@ T STATT 81 T | e |Teistiveh a3l o dwas H, ot sht +ff ar%q 1 e
33 W dfed I T I3 e (FUN) TR T8l 8 | FAY ATl g3t i
TR-STYESHHI HaT SITAT | AfS 5 ST T T oft a8 a oft areisiies awqaft
o 1T, R[eo TP T hicd &l e, MU SIgd ST 3TEE &1 ST & | 7 WM 19U
ST STRINT st STl sht ShI-TSeH (Y@ el STl & | STHIehT Ufoash &9 § oA
=Sl % forg sy T2 @, 2 9 ga § W R ged & a1 e foe anferemn
HIYHR AT (TIT) LT & | IcATeh TAT ITHITHT oh sf<l WA TIHAT 6 FRI €A1 B
AT gl 2 ST 2 | T8 H, 36 Toh shl 31 hl IUCToY LT o [T HLhR T ST
HAAMTTEN T |

few e Ry T T I % AR ¥, frEfefiad get o s s

(F) N GRT AreIsT e g3l hl Tt 1 AFETRIS e 9 I sy | 3
@) S-S (HHAER) i GRWTNG hIfST | drestieh a&qatl o ey # hi-tsed
ST Ica= AN ohl SReT I | 3
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17.

Read the following text carefully :

Government provides certain goods and services which cannot be
provided by the market mechanism. Examples of such goods are national
defence, roads, government administration etc. which are referred to as
public goods.

There are two major differences between public and private goods. One,
the benefits of public goods are available to all and are not only restricted
to one particular consumer. For example, if a person wears a shirt, it will
not be available to others. It is said that this person’s consumption stands
in rival relationship to the consumption of others. However, if we
consider a public park or measures to reduce air pollution, the benefits
will be available to all. One person’s consumption of a good does not
reduce the amount available for consumption for others and so several
people can enjoy the benefits, that is, the consumption of many people is
not ‘rivalrous’.

Two, in case of private goods, anyone who does not pay for the goods can
be excluded from enjoying its benefits. If you do not buy a ticket, you will
not be allowed to watch a movie at a local cinema hall. However, in case
of public goods, there is no feasible way of excluding anyone from
enjoying the benefits of the good. That is why public goods are called
non-excludable. Even if some users do not pay, it is difficult and
sometimes impossible to collect fees for the public good. These non-paying
users are known as ‘free-riders’. Consumers will not voluntarily pay for
what they can get for free and for which there is no exclusive title to the
property being enjoyed. The link between the producer and consumer
which occurs through the payment process is broken and the government
must step in to provide for such goods.

On the basis of the given text and common understanding, answer the
following questions :

(a) Describe how the Government’s role in providing public goods
impacts community welfare.

(b)  Define free-riders. Explain the challenges posed by the free-riders
in the context of public goods.

58/6/3
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LCLCRC]

are aArfefer farermar
18. fimfciRaa o @ fore Trsg/fop Tt 3 <1ffes farahmar o fotw d=raffer s g &1 dtem
fopam o 2 @& fasheq &1 =aq Fifsm)
(1) Hid (i) ©HF
(ili)  OTfeREdTT (iv) ST T SR
frerea
(A) (@), (i) 3R (iii) (B) (i) 3R (iid)
(©) () 3ARGv) (D) A (iv)
19. FHAfARed el i e 9oy ;
FY7 1 : USHR s Ul Tifafafer 8, S foreft safxe ot oo ufar o foru srsfifesnr
T GTE TSI HT T HaTd ST 2 |
FYF 2 HAfHER I8 & M, I ScdTEeh W13l N Hehel B 31 (GDP) H AR
qars |
fau T sheT o 3TTedies |, Ffefaa § @ 9t foshed o1 =a hifsie
(A)  FHIT 19 & AN FHIT 2 HEA 2 |
(B) U 1 TR AN FIT 2 T2 |
(C) w1 2TATAR |
(D) T 132 AT AR |
20. Hohdeh hl TSI o TeHIfas [l o o SHaiferdhar arfiert &
T o &9 T gty foram ST o § |
(e o <A1 g o TeTq He forshed T == Sh1fTY)
(A)  3idfeR (B) &ddr
(C) Tamyg (D) SHHIRThH
21.  d Shifd et g |
(e o <A1 g o ToTq |et forshed o1 =i hifT)
(A)  SHTEHET (B)  Hc& UleH
(C)  FUIaEA (D)  wEEA
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SECTION B

Indian Economic Development

18. Which of the following country/countries followed the Five Year Planning

structure of economic development ? (Choose the correct option) 1
(i) India (ii)  China
(iii) Pakistan iv) USA
Options :
(A) (@), (i1) and (iii) (B) (1) and (iii)
(C) (@) and (iv) (D)  Only (iv)
19. Read the following statements carefully : 1

Statement 1 : Employment is an activity which enables a person to earn
means of livelihood for his/her family.

Statement 2: A worker is the one who contributes to the process of
Gross Domestic Product (GDP) by rendering his
productive services.

In the light of given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

20. indicator may be defined as the measure of the extent of
demographic participation in social and political decision-making. 1
(Choose the correct option to fill in the blank)
(A)  Economic (B)  Liberty
(C) Health (D) Demographic
21. White Revolution is associated with . 1
(Choose the correct option to fill in the blank)
(A)  Horticulture (B)  Fisheries
(C)  Dairy Production (D)  Animal Husbandry
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22,

23.

24.

25.

= 7, o IR, FIHRI I TS ©d M o [T HHEH qH &M i T
ST TfreR IcaTeH ITed &1 STR o i SUeHT | o T |
(far T =6 qfd o fore wiet forepe = = )

(A) €I HN g
(B)  FFIT JUITAT
(C) W& GeRT HiEah(ceh shifd

(D) &R shifd

frrferfiaa shert — AfreRe (A) SR HROT (R) i AHYe 9T | Fi= fag e foeredi

o wEl foerey g ;

3frHeT (A) : 99 1921 I HeM favTSis 99 (Year of Great Divide) H&T TR |

FRU(R) : ¥ 1921 o 39T, WA hl SIHEEAT I & H ot sgiadl gs off |

forepeT :

(A) AT (A) 3R FHROT (R) SHT T & AR FHR (R), AT (A) i Tt
ST AT & |

(B)  AMYHAT (A) 3R &R (R) SHT T &, TAfehT HRIT (R), AR (A) T Tt
T T FHAT ¢ |

(C) AU (A) T 8, fehd RN (R) T ¢ |

(D)  AMYHAT (A) T &, Tohd HRUT (R) T2 |

EICIE k| U U AT BRES’ (GLF) SAaIeH shi JEATd hl o |
(e o <1 g o foTq |E forshed T == h1fTY)

(A) 1951 (B) 1955
(C) 1958 (D) 1962

“IT TR A ToreT safth o T siferkaw iy gor e (&afiea) & s ot if
TS ot |”
WUENOEAT &G H SIS |

(e o <h1 g o ToTq |E forshed T == h1fTY)
(A) e shifd (B) i ufEna
(C)  forskar fermy (D) iy shifa
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22. In China, under , peasants were provided with pooled land to
create larger fields that could yield greater output and they shared farm
implements. 1

(Choose the correct option to fill in the blank)
(A) Joint Farming System
(B) Commune System
(C)  Great Proletarian Cultural Revolution
(D)  Green Revolution

23. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct alternative from those given below : 1
Assertion (A) : The year 1921 is called as the Year of Great Divide.

Reason (R):  After the year 1921, India experienced a sharp rise in its

population growth rate.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

24, Mao initiated the ‘Great Leap Forward’ movement in the year
(Choose the correct option to fill in the blank) 1

(A) 1951 (B) 1955

(C) 1958 (D) 1962

25. “The Indian Government adopted a policy of fixing maximum land
holding limit (ownership) for an individual.”

It is commonly known as . 1
(Choose the correct option to fill in the blank)
(A)  Green Revolution (B) Land Ceiling
(C)  Marketable Surplus (D)  Golden Revolution
58/6/3 # 19| Page =43 P.T.O.



26. TmfcRaa foe =1 stegam HIfSIY o @R gRT ST fauue § gur o foag s1oam 1y
34T Sl U= I | GHAEEEREIRCPEEIIE 1Y)

(A)  TERN FoT Gifaar (B) Tafafig awm
(C) diEed glagmd (D) ¥ TR

qIe :  HFEITRIA 24 Shae grEariera qigrierat & fo7q J97 €ea1 26 % T W e |

TEE SHITTC, fof, FFTCTRET § & 18T TR ST 1Y foiur & Faw 6 g ST
T 3T H W T T & |

(A)  HEhHl = fHfaar

(B) R-faf=afia (unregulated) TR

(C)  oER uieEd gfagmd

(D) E=HT T FER

27. g HifSe for, Feaferfiga & @ -ar Seriienor ) g2 TehR & IRTiyd sHedr 2 |
CHAEETREIEPERC IS

(A)  HTeISTh &1 o SUsRAT (PSUs) o I o Ueh feedt shi Tshigd fershl
(B) Iy fored o el Afdfa wehieRtor

(C)  rdeaE o fafir &l IX TR T <I7TT 71T Hfsidl sl 8T
(D) AT FeITae 9T €T a1
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26. Study the following image and identify the measure adopted by the
Government to improve agricultural marketing. 1
(Choose the correct option)
(A)  Cooperative credit societies (B) Regulated markets
(C) Transportation facilities (D) Dissemination of information
Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 26.
Identify, which of the following measure is not adopted by the
government to improve agricultural marketing.
(A)  Cooperative credit societies
(B)  Unregulated markets
(C)  Better transportation facilities
(D)  Dissemination of information
27. Identify, which of the following correctly defines liberalization. 1
(Choose the correct option)
(A)  Outright sale of part of shares of Public Sector Undertakings
(PSUs)
(B) Increased integration with the rest of the world
(C)  Removal of restrictions imposed by government on different sectors
of the economy
(D)  Focus on import substitution
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28. (&) foifer wmam o S, Tohet SR 3TUE (GDP) SNk &5 &1 ITaH oeg
HH I AT |7
39 I oh TH H 7T k1 |ied 14T T e T S [ i |

T
@) “fafewr ymEa & Faia et AT & o & i et TeRae YRd &

SR ol FETET Glaemd Y& w1 71 g fafi= siafefie fedi it e o
AT AT |”
T 3T 3T o § T § 2 3T I oh TR H 717 SHR0T €T |

29.  fIU T fort % STUR W, 7 GSiT Ui o G sl GHATEY ST AT 61 ST Ihg |
IS < HhaT 2 |

e :  HETRad Yo7 Fad gieariera qheieran & fo7q o7 681 29 & €I W e |
A STt HHTOT o G o w9 H <Rren | fawr s samen Fiie |

30.  “ITU=NER &5 % J=Ir ST &5 U SITeT USHTR YT HT TG ¢ |7
Y el SRT U Ho hl 418 HIRIT |
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28. (a) “During the British rule, contribution of industrial sector to the

Gross Domestic Product (GDP) remained very low.”

Justify the given statement with valid arguments in support of

your answer. 3
OR

(b) “The real motive behind infrastructural development under the
British rule was not to provide basic amenities to the people of
India but to subserve various colonial interests.”

Do you agree with the given statement ? Give valid reasons in
support of your answer. 3

29. On the basis of the given image, explain the source of human capital
formation which may contribute to the economic growth in India. 3

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 29.

Explain ‘Investment in Education’ as a source of human capital
formation.

30. “It is necessary to generate more employment in the formal sector rather
than in the informal sector.”

Justify the given statement with valid arguments. 4
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31. W Fordl a1 SROT A1 qeateh T e STTaR o =i & offefer foermer o ofter afg
g% |

32. (%) <21 wrarsdt H N W gRO foepE I Wre QA H Ut FRA W gl
SEITehT Teh Aol sIfHeRT fT Sehell € 17
faw T o o1 o TRt o |1y Sfifoed fag it |

HAAT

@)  Tior foren § URg SUTsHdT o Hew ohi SIReT hifwTy |

33. (®) () <TI0 YA & fIT Felet GehrrcHss TRomHT aredt Uk afsrm @ 8 1
Tou U e T 9T TS RT o T AU SAYET e i |

(i) “ForIar IWid e § FN & H foreferai & S+’ & GHdT 1 a8
TS BT o7 1
FAT 3T 5T 7T o & EHd & 2 Y TR Gied 3Tq I T qHeH
It |

HAYAT

@) () “FNIEH WHN ford T 9 T S &, T I8 T F Eia et
o T sTawae 8 17
f3U T e T Sy SIS o AT i g i |

(ii) ASHT Y % ST TR § TSP R G YT 1 § T SN AT
VHeRT O FETq H == <Al |
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31.

32.

33.

Evaluate any two factors that led to the rapid growth in economic

development in China.

(a)

(b)

(a)

(b)

“IT can play a critical role in achieving sustainable development

and food security in the 215 century in the country.”

Justify the given statement with valid arguments.

OR

Explain the importance of credit availability in rural development.

(1)

(i1)

(1)

(i1)

“Globalisation has been a process for India with only positive
results.”

Defend or refute the given statement with valid explanation.

“The goal of equity was served by ‘Abolition of Intermediaries’

in agriculture in the post independence period.”

Do you agree with the given statement ? Support your answer

with valid explanation.

OR

“Farm subsidies put a huge burden on the government

finances, but are necessary for poor and marginal farmers.”

Justify the given statement with valid explanation.

Discuss briefly the role of small scale industries in generating

of employment and equity in India under the planning period.
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34.

FcTRed e ! Y uiey :

SN % S¢d §Y e Yara@l (footprints) o HN, SIAAR Hhe H TqE
US| o &9 H fagd 9 g8ard &= gRdat | @1 8 | STaaryg aiEd st I |
TN ST o Fa9™l ol e YSial (footprints) ol &H o Tt YT o
TSRS ST ITei ok & fueT ST ot @ | 18 it fo-avor a & gva 2 |

B fora-gI9oT =T Seg HraisT(eh, st 37T fi-aTyshidY €31 & aRofi foremmd o
foTu forcfiar yame (Sifsh, argeht-shige, sfiam it e a) F T M eI R |

ARerh Bl foret (eAteret WA wrga) o o TR shafrIt 1 et T &
foam & | IfRRees forerme for e 31 o (e) €N Sl 3R STa-forRqa Siet afEsmnstt
& ToTT Tt &0 U ErefepTetie THei (Sfoerdt ST 30T € o o fiu dar § |

B ot FiareoT i Torel, SATTeieh forehr o forfar Hel ot TehmrcHh T ST
GohdT 7, S BHa 3TfeaelT ol TicdTied $id 7, S 1o MESE 19 Scis ol
AT, FSll SETAT H G HAT AT Ao ST # qhg T |

U T Ty & W T % SR W, R we o 3 AT
@) B for = 37ef I SeT v SooiE i |
@) &ita forg-aror & foreel &) aret ot == Fifsw |
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34.

Read the following text carefully :

Growing carbon footprint of industries have put power and steel
sector in the spotlight as the major contributor to the climate crisis. The
challenge of climate change can be tackled only by making our industries
and businesses follow practices and processes that reduce their carbon
footprint. It can be possible only with green financing.

Green financing aims to increase the level of financial flows (from
banking, micro-credit, insurance and investment) from the public, private
and not-for-profit sectors to sustainable development priorities.

Global green finance has also started chasing Indian companies.
Global development finance institutions and funds are ready to offer
long-term support (both equity and debt) at cheap rates to projects like
solar energy and hydropower.

Green finance can positively affect environment quality, economic
development and financial issues that promote the green economy, such
as reducing greenhouse gas emissions, improving energy efficiency or
enhancing the organic economy.

On the basis of the given text and common understanding, answer the

following questions :
(a)  State the meaning and objective of green finance.

(b)  Discuss any two benefits of green financing.
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